



St. Louis County, Minnesota

Date of Report: 5/13/2025 5:13:59 PM

General Details

 Parcel ID:
 030-0500-00199

 Document:
 Abstract - 2753-3149

Document Date: -

Legal Description Details

Plat Name: ELY

Section Township Range Lot Block

27 63 12 -

Description: E 411.01 FT OF W 477.01 FT OF N 300 FT OF S 333 FT OF SE1/4 OF SE1/4

Taxpayer Details

Taxpayer Name THIES & TALLE MANAGEMENT INC

and Address: 470 W 78TH ST SUITE 260

CHANHASSEN MN 55317

Owner Details

Owner Name PINE MANOR TOWNHOUSES

Payable 2025 Tax Summary

2025 - Net Tax \$4,372.00

2025 - Special Assessments \$600.00

2025 - Total Tax & Special Assessments \$4,972.00

Current Tax Due (as of 5/12/2025)

The state of the s										
Due May 15		Due October 15	5	Total Due						
2025 - 1st Half Tax	\$2,486.00	2025 - 2nd Half Tax	\$2,486.00	2025 - 1st Half Tax Due	\$0.00					
2025 - 1st Half Tax Paid	\$2,486.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$2,486.00					
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$2,486.00	2025 - Total Due	\$2,486.00					

Parcel Details

Property Address: 1421 CAMP ST E, ELY

School District: 696
Tax Increment District: Property/Homesteader: -

	Assessment Details (2025 Payable 2026)									
Class Code (Legend)										
324	0 - Non Homestead	\$52,100	\$1,055,000	\$1,107,100	\$0	\$0	-			
	Total:	\$52,100	\$1,055,000	\$1,107,100	\$0	\$0	2768			





St. Louis County, Minnesota

Date of Report: 5/13/2025 5:13:59 PM

Land Details

 Deeded Acres:
 2.84

 Waterfront:

 Water Front Feet:
 0.00

 Water Code & Desc:

 Gas Code & Desc:

 Sewer Code & Desc:

 Lot Width:
 0.00

 Lot Depth:
 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

	Improvement 1 Details (4 UNITS)										
lı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.				
	APARTMENT	1979	2,16	60	4,320	-	1-3 - 1-3 STORY				
	Segment	Story	Width	Length	Area	Foundati	ion				
	BAS	2	30	36	1,080	FLOATING	SLAB				
	CN	0	4	8	32	FLOATING	SLAB				
	OP	0	4	4	16	FLOATING	SLAB				

Efficiency One Bedroom Two Bedroom Three Bedroom

		Improve	ment 2 D	etails (4 UNITS)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
APARTMENT	1979	2,16	60	4,320	-	1-3 - 1-3 STORY
Segment	Story	Width	Length	Area	Foundati	ion
BAS	2	30	36	1,080	FLOATING	SLAB
CN	0	4	8	32	FLOATING	SLAB
ОР	0	4	4	16	FLOATING	SLAB
Efficiency	(One Bedroom		Two Bedro	om	Three Bedroom

Improvement 3 Details (6 UNITS)									
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
APARTMENT	1979	3,48	30	6,960	=	1-3 - 1-3 STORY			
Segment	Story	Width	Length	Area	Foundati	on			
BAS	2	30	44	1,320	FLOATING	SLAB			
BAS	2	30	72	2,160	FLOATING	SLAB			
CN	0	4	8	32	FLOATING	SLAB			
OP	0	4	4	16	FLOATING	SLAB			
Efficiency		One Bedroom		Two Bedro	om	Three Bedroom			





St. Louis County, Minnesota

Date of Report: 5/13/2025 5:13:59 PM

					Date of Repo	n: 5/13/2025 5:13:59 PM
		Improven	nent 4 De	etails (6 UNITS)		
Improvement Type	Year Built	Main Floo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
APARTMENT	1979	3,480	0	6,960	-	1-3 - 1-3 STORY
Segment	Story	Width	Length	Area	Foundat	ion
BAS	2	30	44	1,320	FLOATING	SLAB
BAS	2	30	72	2,160	FLOATING	SLAB
CN	0	4	8	32	FLOATING	SLAB
OP	0	4	4	16	FLOATING	SLAB
Efficiency	c	ne Bedroom		Two Bedro	om	Three Bedroom
				(2 1 1 1 1 7 2)		
Inches and Torre	Vaan Duilt	-		etails (6 UNITS)	Decement Finish	Ctula Cada 9 Daga
Improvement Type	Year Built	Main Floo		Gross Area Ft ²	Basement Finish	Style Code & Desc.
APARTMENT	1979	3,480		6,960	-	1-3 - 1-3 STORY
Segment	Story	Width	Length	Area	Foundat	
BAS BAS	2	30	44	1,320	FLOATING	
CN	2	30	72	2,160	FLOATING	
OP	0	4 4	8 4	32 16	FLOATING FLOATING	
	*	-	4			
Efficiency	C	One Bedroom		Two Bedro	om	Three Bedroom
		Improveme	ent 6 Deta	ails (4 + OFFICE)	
Improvement Type	Year Built	Main Floo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
APARTMENT	1979	2,904	4	5,184	-	1-3 - 1-3 STORY
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	26	24	624	FLOATING	SLAB
BAS	2	30	36	1,080	FLOATING	SLAB
BAS	2	30	40	1,200	FLOATING	SLAB
CN	0	4	8	32	FLOATING	SLAB
OP	0	4	4	16	FLOATING	SLAB
OP	0	4	24	96	FLOATING	SLAB
Efficiency	C	ne Bedroom		Two Bedro	om	Three Bedroom
		Improveme	nt 7 Deta	nils (4 STALL DG	1	
Improvement Type	Year Built	Main Floo		Gross Area Ft ²	Basement Finish	Style Code & Desc.
GARAGE	1979	968		968	-	DETACHED
Segment	Story	Width	Length	Area	Foundat	
BAS	1	22	44	968	FLOATING	
27.0	·					
Improvement Type	Year Built	Main Floo		nils (4 STALL DG Gross Area Ft ²	Basement Finish	Style Code & Desc.
GARAGE	1979	968		968	-	DETACHED
Segment	Story	Width	Length	Area	- Foundat	
BAS	3.01y 1	22	Length 44	968	FLOATING	
DAO	· · · · · · · · · · · · · · · · · · ·					
Improvement Type	Year Built	Improveme Main Floo		nils (4 STALL DG Gross Area Ft ²	•	Style Code 9 Dece
Improvement Type GARAGE					Basement Finish	Style Code & Desc.
GARAGE	1979	968		968	-	DETACHED





St. Louis County, Minnesota

Date of Report: 5/13/2025 5:13:59 PM

Segment Story		ry Width	Length	Area	Found	dation		
BAS	1	22	44	968	FLOATI	NG SLAB		
		Improveme	ent 10 Details	(3 STALL DG)				
Improvement Typ	oe Year Buil	t Main Flo	oor Ft ² Gro	ss Area Ft ²	Basement Finish	Styl	e Code & Desc.	
GARAGE	1979	74	748 748		-	Г	DETACHED	
Segme	ent Sto	ry Width	Length	Area	Foun	dation		
BAS	1	22	34	748	FLOATI	NG SLAB		
		Sales Reported	to the St. Lo	uis County Au	ditor			
No Sales informa	ation reported.							
	·	Δ	ssessment Hi	istory				
Year	Class Code (Legend)	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity	
	324	\$52,100	\$1,007,400	\$1,059,50	0 \$0	\$0	-	
2024 Payable 2025	Tota	\$52,100	\$1,007,400	\$1,059,50	0 \$0	\$0	2,649.00	
	324	\$52,100	\$944,800	\$996,900	\$0	\$0	-	
2023 Payable 2024	Tota	\$52,100	\$944,800	\$996,900	\$0	\$0	7,477.00	
	324	\$45,200	\$766,200	\$811,400	\$0	\$0	-	
2022 Payable 2023	Tota	\$45,200	\$766,200	\$811,400	\$0	\$0	6,086.00	
	324	\$45,200	\$766,200	\$811,400	\$0	\$0	-	
2021 Payable 2022	Tota	\$45,200	\$766,200	\$811,400	\$0	\$0	6,086.00	
			Γax Detail His	tory				
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	s Taxable Lan	Taxable Bo		otal Taxable M\	
2024	\$11,748.00	\$450.00	\$12,198.00	\$52,100	\$944,8	800	\$996,900	
2023	\$10,774.00	\$450.00	\$11,224.00	\$45,200	\$766,2	200	\$811,400	

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.

\$11,718.00

\$45,200

\$766,200

2022

\$11,268.00

\$450.00

\$811,400